Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Sem-II Remedial examination September 2009

Date: 19 /09 /2009

Instructions:
1. Attempt all questions.
2. Makesuitable assumptions wherever necessary.
3. Figurestotheright indicate full marks.
4. English version Authentic
Q.1 (@) Calculate mean from the following data.
X 0 1 2 3 4 56
f 3 8 12 21 10 42
(b) DrawHistogram from the following data
class 0-10 10-20 20-30 30-40-80 50-60 60-70
f 2 8 20 40 50 30 10
Q.2 (@) Calculate mode from the following data.
class 0-10 10-20 20-30 30-40-80 50-60
f 2 4 4 6 5 3
(b) State importence of S.Q.C.
OR
(b) State any seven S |units used in Textile.
Q.3 :
(a) State different measures of pegsion. Define any one measures.
(b) Calculate mean deviation from the following data.
X 10 11 12 13 14
f 3 12 18 12 3
OR
Q.3 Score of last 6 inngs of two batsmen are as under. State which laatsr
is constitent.
X 15 8 29 36 51 104
Y 39 26 43 50 48 77
Q.4 (@) Define co relation. Explain types of co relation.
(b) Calculate co relation between x andy from tHe¥ang data.
X 100 101 102 102 100 99 988 96 95
Y 98 99 99 97 95 925994 90 91
OR
Q.4 (@) Explain Normal Distribution.
(b) The Mean and Variance of a Binomial Distributioe 46 and 6
respectively Find out value of n and p.
Q.5 (@) Explain F test
(b) Explain t test.
OR
Q.5 (@) Explain X bar chart.
(b) The no of defects in 10 samples of fabric is gibetiow. State whether
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the process of fabric manufacturing is under comrmot by C chart.
1,4, 3, 2,5,4,6,3,2,5
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